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TEET (KF)a—F {TEET (KF) 4 tHFH 0(%) 1 2 3 4 5 6 7 8
10 H ET 140 5 0 3 1 1 1 2 0 1
20 iEdunl:ii] 142 4 0 3 1 5 3 2 4 2
30 1B HET 279 1 2 6 7 8 7 1 4 3
40 LRHET 115 2 1 1 1 2 2 3 2 1
50 AET—TH 299 1 1 1 0 1 1 3 0 3
60 ABTZ_TH 161 2 0 2 0 2 1 4 2 1
70 ABT=TH 294 6 4 5 8 3 5 5 4 9
80 KT I T 35 0 0 0 0 0 0 0 0 0
90 PR T I AT 196 1 4 6 2 4 4 2 4 5
100 b FLET 118 0 2 3 2 2 3 1 3 0
110 ¥ASTHET 1033 25 23 22 27 28 31 271 29 21
120 ¥ATTAHT 179 4 4 3 4 6 3 3 12 2
130 FEFET 334 5 4 7 6 8 4 3 11 6
140 £ ] T 21 0 0 0 0 1 0 1 0 0
150 eSS 320 14 8 16 8 9 5 6 9 8
9999 KRB XET 3666 70 53 78 67 80 70 63 84 62
510 ABTETH 389 6 6 7 4 3 4 8 3 10
520 heEE ET 113 3 5 8 3 3 1 7 4 3
530 J\IEHT 232 1 1 1 6 3 4 6 4 5
540 15 EET 406 3 3 2 6 5 3 12 7 1
550 Hrith BT 309 4 3 6 2 5 5 4 12 12
560 = ZRET 114 1 1 0 0 0 1 0 1 0
570 EEmT 61 0 0 0 1 2 2 1 3 0
580 HrBAET 118 1 4 3 2 2 2 2 1 2
590 HriEET 67 0 0 1 0 0 0 0 0 0
600 ANET 549 18 5 13 19 15 13 22 11 17
610 HET 171 1 4 1 3 2 2 0 1 5
620 HAE—TH 2 0 0 0 0 0 0 0 0 0
9999 J\RBREXET 2531 38 32 42 46 40 37 62 47 55
1010 EHHET 151 1 1 1 3 2 1 5 0 5
1020 L FHT 268 8 9 6 13 11 8 10 9 6
1030 i ET 232 6 6 6 7 8 6 8 2 9
1040 78 A HT 419 9 14 11 10 6 12 14 7 5
1050 R HEHHAT 493 8 16 16 9 15 7 10 18 12
1060 F L HT 385 3 7 6 4 5 7 9 11 18
1070 wr IR ET 530 17 16 14 16 9 9 13 8 11
1080 & H|ET 318 12 11 14 6 12 5 8 7 8
1090 HEHRT 554 9 8 11 12 6 13 13 13 9
1100 L BEHR 452 13 8 8 10 10 15 11 15 11
1110 f21EMT 157 8 1 3 5 2 5 3 2 1
1120 f21E STHT 92 1 1 0 0 1 0 1 0 1
1130 + 0T 32 0 0 1 0 0 1 1 2 0
1140 Fh R BT 11 0 1 0 0 0 0 0 0 0
1150 FRET—TH 188 2 10 6 2 4 4 4 1 1
1160 FEET—TH 247 2 5 0 3 2 4 2 3 3
1170 JAEKHET 189 1 3 4 1 5 3 3 2 6
1180 EBEAH 218 2 3 3 4 2 2 3 4 1
1190 1 FAHT 171 2 4 2 2 3 1 1 3 1
1200 RKFHT—TH 123 1 1 0 0 1 1 1 2 0
1210 RKFEHEIZTH 167 2 7 4 1 4 3 6 5 3
1220 T 131 4 1 2 4 2 5 2 3 2
1230 HRET 165 2 1 1 1 1 0 1 0 0
1240 5T 153 2 2 3 3 0 4 2 2 0
1250 TEE AT 163 1 3 3 4 2 3 4 0 5
1260 NBrh @ 60 1 0 0 0 0 0 0 0 0
1270 HEHET 154 2 0 2 1 1 1 3 2 3
1280 PRAEHT 145 2 2 6 0 2 0 3 4 2
1290 SR HET 191 3 3 2 1 2 2 3 0 2
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1530 HE 0 ST BT 324 5 9 3 6 5 3
1540 KiaFHT 506 12 6 10 6 7 14
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2010 = BHRHET 182 4 5 6 8 2 9
2020 %= ErhHET 278 8 11 7 8 3 6
2030 HNET 21 0 1 0 0 0 1
2040 HET—TH 194 2 4 1 3 0 3
2050 HMET—TH 194 2 2 5 4 4 3
2060 ¥o FE BT 34 0 0 1 0 0 1
2070 FRET—TH 241 1 3 2 3 6 1
2080 FRET—TH 190 2 7 3 4 2 2
2090 =L:1:] 1663 31 23 25 28 36 29
2100 ==pld:] 201 4 13 5 5 6 4
2110 WENIFTET—TH 186 6 1 2 3 4 1
2120 WEHIFET=TE 213 3 9 4 7 9 4
9999 ZEREXE 3597 63 79 61 73 72 64
2510 FA 5 BT 1772 45 52 44 45 64 53
2520 K EEET 1005 31 37 32 27 32 36
2530 = /NERET 303 5 7 2 9 5 7
2540 Fi5HT 412 5 7 9 7 6 7
2550 JPET 190 1 9 4 5 3 4
2560 =11 868 15 25 21 35 18 20
2570 KEHRT 87 0 2 1 3 1 1
9999 WERXE 4637 102 139 113 131 129 128
3010 RATHET 858 12 16 13 14 20 23
3020 ELTITHT 802 20 22 13 21 16 20
3030 L EET 664 13 15 11 17 20 11
3040 HES AT 143 0 1 2 1 2 3
3050 B ET 1583 49 33 32 37 40 49
3060 HETHET 452 6 5 7 8 3 6
3070 T BREET 381 6 10 5 7 6 5
3080 sZ)==:) 338 7 13 5 14 12 11
3090 BT 329 13 8 9 11 10 8
3100 22 l==lsic: ) 483 13 15 12 11 6 11
3110 EZl==Fld:)) 378 12 5 10 6 4 10
9999 I\ TFIBRXET 6411 151 143 119 147 139 157
3510 ER T 171 0 1 3 1 2 1
3520 2[R 330 5 6 1 8 4 5
3530 EETH 785 13 16 24 8 18 11
3540 Z R KHET 310 5 5 8 8 9 8
3550 AEFHT 691 11 10 21 10 16 16
3560 = T AT 268 2 8 4 5 5 3
3570 =TT 763 18 15 13 12 6 10
3580 SE L FrET 474 7 3 10 10 5 10
3590 JERT 8 0 0 0 0 0 0
9999 = ERRE 3800 61 64 84 62 65 64
4010 )11 BT 308 2 3 4 7 4 5
4020 ESHT 69 0 0 1 0 1 0
4030 15T 190 7 5 6 2 2 5
4040 = HEAET 156 6 3 6 1 4 3
4050 K EHT 343 5 7 7 6 6 6
4060 EBEF HET 265 8 10 5 15 8 16
4070 e R AT 137 6 1 2 8 2 2
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TEET (KF)a—F {TEET (KF) 4 tHFH 0(%) 1 2 3
4080 =T HAET 165 6 6 1 12
4090 FRUER BT 262 1 6 4 7
4100 A FFNET 101 0 2 2 0
4110 Jt FFOET 106 2 5 2 2
9999 R XE 2102 43 48 40 60
4510 ERE—FHET 687 6 10 9 18
4520 B FKMET 133 4 2 1 1
4530 ARE=FEHT 109 5 3 2 2
4540 FREmMEHET 114 2 1 1 1
4550 AR A FMET 78 4 1 2 0
4560 BREE N TEHET 40 0 0 0 2
4570 ARECFHET 115 1 1 1 1
4580 AREE)\FEHT 59 1 1 3 0
4590 FRENEHET 103 3 2 4 3
4600 AL+ FHET 124 2 2 1 1
4610 ERE+ —FHET 160 3 1 2 2
4620 B+ — FKMET 232 4 4 4 4
9999 BERRXET 1954 35 28 30 35
5010 RE#0 B HEHT 150 6 1 1 5
5020 B AN BA &L ET 134 3 6 3 0
5030 R E{—HT 148 2 3 5 2
9999 AR FNR X &Y 432 11 10 9 7
5510 o RET 230 2 3 2 1
5520 = Hh BT 537 13 9 10 17
5530 =y 431 8 7 7 5
5540 HERT 236 1 3 1 5
5550 BRET 84 0 0 0 0
9999 =R XE 1518 24 22 20 28
6010 i) BT /)N B 83 0 2 2 4
6020 fit] BT 87 2 0 0 0
6030 RE BT &)1 83 0 1 2 0
6040 1M 189 4 4 4 5
6050 JIIEETE 141 0 2 0 0
6060 JIIEB BT 94 2 0 4 1
9999 BEEMRRXET 677 8 9 12 10
6510 HEA#EAHET 21 1 0 0 1
6520 HE A KIEHT 160 2 1 4 2
6530 BHEAFHHET 101 0 0 1 0
6540 BEALWLTH 166 0 0 1 2
6550 HEAMN 2 NHET 93 1 1 2 1
6560 HEAEILHT 153 2 2 0 0
6570 HEAIERHT 182 2 1 1 4
6580 HEAEHET 101 0 0 0 0
6590 HEARHE 62 1 0 0 1
6600 HEAHHT 109 0 1 1 1
6610 HEA LTEHT 55 1 0 2 1
6620 HEAHFHHET 49 0 1 0 0
6630 BEAT AT 121 0 2 1 0
6640 HEARA EBHT 41 0 0 1 0
6650 HEAKHE 2 0 0 0 0
6660 HEAFRHT 51 0 0 0 0
9999 HEARRE 1467 10 9 14 13
7010 ZRINOHET 154 2 1 0 1
7020 ZRAKHT 301 3 5 3 3
7030 Z RIRHAET 103 0 1 0 1
7040 ZRTKEFHET 200 1 0 1 2
7050 Z REFHIGHET 90 1 0 1 1
9999 ZRERRXE 848 7 7 5 8
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TEET (KF)a—F {TEET (KF) 4 tHFH 0(%) 1 2 3
8011 IRAETFEERLY 66 0 0 0 0
8012 IRABTFERA 113 2 1 0 2
8013 IRAETE R (& 80 0 1 1 2
8021 IR AHETIZRKLY 86 0 1 1 0
8022 IRAHETIRKA 8 0 0 0 0
8023 IR ARET K& 9 0 0 0 0
8031 IRAHET R ALY 163 1 2 1 0
8032 IRAET R AR A 10 0 1 0 0
8033 IRAET R A (& 20 0 0 1 0
8041 IRAHETBEIFLY 75 0 1 0 1
8042 IRAET LIRS 41 0 0 0 0
8043 IR AETERIR (X 23 0 0 0 0
8044 IRART 85I 25 0 0 0 0
8045 IR AET LR 48 0 0 0 0
8050 IRAET IR A 217 1 1 1 4
8060 R A ET R 129 0 1 0 0
8070 IRAETEAR 169 1 0 0 0
8080 IR A BT S %A 53 1 0 1 0
8090 IR A BT B 59 0 1 1 0
8100 IRAETH /R 28 0 0 0 1
8110 IR ASHET )] 5% 64 0 0 1 0
8120 IR A ETER 77 0 0 0 0
8130 IRAHETH L 77 2 0 0 3
8140 IRAETEEERT 119 0 0 1 1
8150 IRABTEFEEL 85 0 0 1 0
9999 AR X ET 1844 8 10 10 14
9010 FTHAREH 494 10 9 8 9
9020 FTHEHIEEAR 271 6 2 5 4
9030 FTH#HAEH 793 25 19 19 24
9040 FTHEHEE 950 18 19 24 24
9999 FTHREE 2508 59 49 56 61
9110 BRI T AL 436 5 9 9 7
9120 =T Ak 208 3 6 4 2
9130 FEHHRE 106 2 5 2 2
9140 SERT T4 329 4 9 8 12
9150 $EET 63 431 6 9 8 9
9160 SERTEEAT 605 14 20 20 14
9170 $ERTINE 836 25 16 17 17
9180 FEETER 556 16 8 12 12
9190 AT Z O 177 3 3 6 6
9200 SR HT B 153 2 1 3 1
9210 SEET = 308 4 4 6 4
9220 55 BT i 475 9 18 8 16
9230 SEET B M 523 4 10 13 12
9240 SEHTIE R 224 2 5 3 4
9250 $ERTIL Frith 347 9 8 13 11
9999 FERXET 5714 108 131 132 129
9310 R[ZHET AR 192 1 3 0 2
9320 R ISHETIE 184 2 2 3 4
9330 R ISET/INE 129 2 1 0 3
9340 RIZHTE 325 5 4 2 6
9999 RGHRXET 830 10 10 5 15
9410 RETT&E 319 1 6 5 10
9420 RETHAE 229 0 3 0 1
9430 RETEXR 147 0 1 1 0
9440 RETAGEF 18 0 0 0 0
9450 RETHER 24 1 0 0 0
9460 RETCHE 29 0 0 0 1

OOOOOONOONON—-—- 00O O0OO0OO0ODOOOOPMODONMMNMOO M~

23

M—L
OCOOONW——ON—_OOOPR~AP,TOITWOWWO

— —
WO OO —-O0ONOOOOWONOODOOOOOOOOOONMNO U

N W
oo N

79

127

— 0O 00 WO UOIONW

A INO -2 = =0 —-NOOOMNOOOOO—~0O0O0OO—-0OMNMOO

124

OO OOO~NNM~_—=M~_W

NOPRARO - == 000NODODWODOODOODOO—-00O—-=MNNMNOJ

12
124

— O ODMNMNNNNIINOOW

NoOoO O OO O - -0 - - 00—~ 0000 00O PMODOO 000

12
132

QOO —=MNOAOPODD—=hW

— —
WONN—-O0O—-=-NOMNOON—-—- 00000 O0ONODODO—~=NO ©

DN W
o —= O

13

—
[eNeNe A =)



MH24 7T FREARBIREZD—HREIZKYNBEANZEDH-ADO - HEHEH
[(H27.2.28TR7E )ATERBT & (KF) BIEH A A OHERR (55T

TEET (KF)a—F {TEET (KF) 4 tHFH 0(%) 1 2 3 4
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TEET (KF)a—F {TEET (KF) £ 10 11 12 13 14 15 16 17 18 19
10 H ET 1 6 1 4 5 3 3 2 2 2
20 [ st BT 3 1 3 2 4 2 3 6 3 0
30 1B HET 5 7 6 5 6 8 10 9 10 9
40 LRHET 1 1 1 0 1 2 0 0 0 1
50 AET—TH 3 2 4 1 2 3 4 3 6 5
60 ABTZ_TH 4 2 3 2 2 2 0 2 1 0
70 ABT=TH 9 8 4 4 10 6 6 10 6 9
80 KT I T 1 0 2 0 0 1 0 1 1 0
90 PR T I AT 1 1 3 4 2 1 3 1 2 4
100 b FLET 1 1 2 0 1 4 2 0 1 3
110 ¥ASTHET 24 43 25 41 29 30 47 33 32 31
120 L /NAW. N 5 5 4 3 4 7 2 6 3 1
130 FEFET 4 6 4 3 4 9 5 7 9 8
140 £ ] T 1 0 0 0 1 2 5 4 6 1
150 eSS 11 6 3 5 10 9 6 9 6 6
9999 KRB XET 74 89 65 74 81 89 96 93 88 80
510 ABRTUTH 7 3 8 3 3 7 5 4 5 6
520 heEE ET 3 7 4 4 4 6 2 2 2 3
530 J\IEHT 3 4 1 6 2 3 6 5 4 2
540 18 = ET 6 10 15 12 13 8 15 7 8 8
550 Hrith T 12 13 7 11 8 10 7 12 6 9
560 = ZRET 0 1 0 0 2 1 0 0 2 0
570 EEmT 1 3 1 4 2 2 1 1 2 2
580 HrhAET 0 1 1 2 3 2 0 2 1 0
590 HriEET 0 0 0 0 1 0 1 0 1 2
600 FIRET 9 13 15 11 20 16 16 19 23 18
610 FET 2 1 1 2 1 4 0 2 2 2
620 HAE—TH 0 0 0 0 0 0 0 0 0 0
9999 J\RBREXET 43 56 53 55 59 59 53 54 56 52
1010 EHHET 3 2 2 3 4 6 4 5 3 7
1020 L FHT 5 7 3 5 4 8 3 4 2 5
1030 o HT 10 7 6 5 4 5 3 5 3 6
1040 i ayil] 13 9 7 9 11 7 14 6 10 11
1050 R HEHHAT 20 9 15 15 12 14 12 13 12 11
1060 F _EHT 9 13 11 11 10 12 8 11 10 7
1070 wr IR ET 11 11 4 11 11 14 11 15 8 17
1080 & H|ET 5 8 6 11 12 16 13 22 11 6
1090 HEHr 15 17 10 17 17 13 12 19 14 18
1100 L BEHR 11 10 7 9 8 8 11 6 6 7
1110 f21EMT 2 3 5 6 2 2 5 2 1 3
1120 f21E JTHT 0 1 1 0 0 1 2 0 1 1
1130 + &< HT 1 0 1 0 0 0 0 1 0 1
1140 FR R BT 0 1 0 0 0 0 0 1 0 0
1150 FRET—TH 2 2 5 2 2 5 3 4 6 3
1160 FEET—TH 4 2 5 5 1 8 3 6 4 6
1170 SE/KHT 2 2 1 3 4 6 4 4 9 1
1180 EEEFLET 3 2 3 4 2 6 4 4 5 6
1190 1 FAHT 4 1 2 1 3 1 2 2 2 5
1200 KFE—TH 3 1 2 3 5 0 6 1 3 3
1210 RKFERIZTH 1 4 2 3 0 2 3 0 4 1
1220 T 2 3 2 1 0 6 3 2 0 2
1230 FkHET 2 2 1 3 2 3 6 4 5 1
1240 5T 1 3 4 2 1 0 0 1 1 0
1250 TE BT 1 1 2 1 4 3 2 5 1 4
1260 B & 0 0 1 0 0 1 0 1 0 2
1270 HEHET 1 0 1 1 3 1 2 3 4 2
1280 PRAEHT 1 7 2 3 3 1 4 3 3 2
1290 SRET 1 1 3 4 1 5 2 3 2 4
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TERET (AF)a—F {TIET (K=F) & 10 1 12 13 14 15 16

1300 A ZEMT 2 1 3 1 2 1 2
1310 KRIGHET 0 1 1 0 2 1 3
9999 AR XE 135 131 118 139 130 156 147
1510 HEHD _E BT 10 23 8 19 21 11 12
1520 HEH T BT 8 9 15 11 21 15 15
1530 HE 0 ST BT 8 2 6 4 4 4 7
1540 KiaFHT 5 6 10 15 10 12 13
9999 HERNAR X B 31 40 39 49 56 42 47
2010 = BHRHET 4 1 2 2 3 1 2
2020 %= ErhHET 2 5 5 6 2 7 9
2030 HNET 1 0 1 0 1 0 0
2040 HET—TH 7 2 2 2 9 8 3
2050 HMET—TH 2 5 4 4 4 4 6
2060 ¥o FE BT 1 1 2 0 1 0 1
2070 FRET—TH 6 2 3 3 7 2 12
2080 FRET—TH 3 3 6 5 4 1 3
2090 ¢4 35 37 43 43 37 35 39
2100 ==pld:] 5 6 6 7 8 5 8
2110 HEAIEET—T B 5 5 8 9 1 3 9
2120 HEAIEHET T B 5 3 3 5 3 8 4
9999 ZEREXE 76 70 85 8 80 74 96
2510 FA 5 BT 69 51 51 43 44 48 52
2520 K fe BT 29 4 38 42 44 29 31
2530 = /N HET 10 11 4 9 10 9 11
2540 FHIGHET 9 6 8 6 6 4 6
2550 JPET 1 1 6 2 5 2 6
2560 =11 18 18 21 21 16 27 19
2570 KEHRT 1 0 1 2 1 1 0
9999 WERXE 137 128 129 125 126 120 125
3010 RATHET 17 27 21 25 23 22 18
3020 mTHT 19 24 19 17 21 22 24
3030 L EFHT 18 19 17 26 29 29 25
3040 HES AT 2 3 1 4 3 4 4
3050 B ET 38 51 33 33 40 41 40
3060 HEETHT 6 8 14 12 13 10 10
3070 T BREET 5 4 10 3 9 6 14
3080 A ch BT 10 10 7 7 13 9 7
3090 H R ET 8 9 9 9 10 9 8
3100 A o P ET 9 7 11 6 13 8 17
3110 EZl==Fld:)) 6 7 6 7 10 7 10
9999 I\ TFIBRXET 138 169 148 149 184 167 177
3510 ER T 4 1 3 4 4 4 5
3520 Z R hHET 4 7 6 7 5 8 8
3530 EETH 20 17 18 16 19 15 27
3540 Z R KHET 6 8 8 8 16 10 8
3550 AEFHT 11 10 12 13 8 18 13
3560 = T AT 6 3 3 6 4 5 6
3570 =TT 13 16 10 14 13 15 18
3580 L BT 5 6 6 3 9 8 7
3590 JERT 0 0 0 0 0 0 0
9999 = ERRE 69 68 66 71 78 83 92
4010 )1 R ET 7 9 8 5 5 5 9
4020 ESHT 1 0 3 2 4 2 0
4030 15T 6 2 5 7 7 13 5
4040 = HEAET 5 2 7 4 3 4 4
4050 K SHET 10 13 7 11 10 9 6
4060 e ) 11 10 9 7 10 6 6
4070 e R AT 0 4 1 5 5 5 2
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MH24 7T FREARBIREZD—HREIZKYNBEANZEDH-ADO - HEHEH
[(H27.2.28TR7E )ATERBT & (KF) BIEH A A OHERR (55T

TEET (KF)a—F {TEET (KF) £ 10 11 12 13 14 15 16 17 18 19
8011 IRAETFEERLY 0 0 0 2 1 1 1 2 1 1
8012 IRABTFERA 1 0 1 0 4 5 7 4 4 1
8013 IRAETE R (& 2 0 2 1 0 0 2 0 0 0
8021 IR AHETIZRKLY 0 0 0 1 1 1 0 2 1 0
8022 IRAHETIRKA 0 0 0 0 0 0 0 0 0 0
8023 IR ARET K& 0 0 0 0 0 0 0 0 0 0
8031 IRAHET R ALY 0 2 4 0 2 2 3 3 3 4
8032 IRAET R AR A 1 0 0 0 0 0 0 0 0 0
8033 IRAET R A (& 1 0 0 0 0 0 0 0 0 0
8041 IR AHET ALY 1 0 0 1 0 0 0 0 2 0
8042 IRAET LIRS 1 0 0 1 1 1 1 0 0 0
8043 IR A HT B60% (X 0 0 0 0 0 0 0 0 0 1
8044 IR AHET 840F (1 0 0 0 0 0 1 0 0 1 0
8045 IR A HT 860% (F 2 1 1 0 1 0 1 1 1 0
8050 IRAET IR A 2 1 1 0 2 0 3 3 2 4
8060 R A ET R 0 0 0 0 4 1 2 1 1 2
8070 IRAETEAR 1 1 1 2 1 1 1 0 4 1
8080 IR A BT S %A 0 1 0 1 1 1 0 0 0 0
8090 IR A BT B 1 1 0 0 1 0 1 1 0 0
8100 IRAHET T /R 0 0 0 0 0 0 0 0 0 0
8110 IR A ET 1|55 0 0 1 0 1 1 0 2 1 0
8120 IR A ETER 3 1 2 1 1 2 3 3 3 2
8130 IRAHETH L 2 1 0 2 1 1 3 3 1 3
8140 IRAKETEEERT 0 3 3 3 2 3 4 2 7 1
8150 IRAETEEERL 2 0 0 1 1 1 2 0 0 1
9999 IRAR X ET 20 12 16 16 25 22 34 27 32 21
9010 FTHAREH 13 8 11 9 7 8 6 2 9 2
9020 FTHEHIEEAR 5 10 4 9 7 6 11 11 6 10
9030 FTH#HAEH 25 38 30 33 20 20 20 26 18 17
9040 FTHHEEE 16 29 23 33 19 23 25 25 38 18
9999 FTHREE 50 85 68 8 53 57 62 64 71 47
9110 EET T AL 9 9 12 1 15 20 13 12 11 14
9120 SEHTHIE 5 3 5 8 5 11 12 2 5 4
9130 FEHHRE 1 1 3 2 3 3 3 5 3 5
9140 SEET T AT 7 10 3 7 8 8 10 15 12 14
9150 SR 85 9 8 12 9 9 11 6 3 8 9
9160 SEET S AT 11 9 13 9 14 15 13 16 15 12
9170 $ERTN A 16 14 18 18 18 19 18 17 21 15
9180 SEET 85 6 10 13 10 11 5 9 11 14 10
9190 AT Z O 3 3 2 2 3 5 4 4 6 5
9200 SR HT B 6 3 7 3 4 2 6 2 4 0
9210 $ERT = H 6 11 7 8 8 6 10 8 7 10
9220 $EAT I 13 11 15 9 12 14 12 14 15 14
9230 S T B M 15 14 11 13 10 11 10 12 10 16
9240 SERTIE R 2 1 2 5 3 5 0 4 6 5
9250 SEATAL Frih 15 17 8 11 9 9 7 12 12 18
9999 FERXET 124 124 131 125 132 144 133 137 149 151
9310 R[ZHET AR 1 1 1 3 2 3 4 7 8 2
9320 R ISHETIE 3 1 3 4 9 3 10 5 3 7
9330 R I5ET/INE 0 3 3 4 5 2 4 2 4 0
9340 RIZHTE 5 10 8 9 8 10 10 11 11 14
9999 RGHRXET 9 15 15 20 24 18 28 25 26 23
9410 RETE 5 11 10 8 6 11 10 6 10 5
9420 RHETHHE 3 1 2 4 3 1 1 3 4 3
9430 RETER 1 1 5 2 2 2 1 1 1 3
9440 RETAEF 0 0 0 0 0 0 0 1 0 0
9450 RETHE[R 0 1 0 0 0 0 0 0 0 0
9460 RETCHE 0 0 0 0 0 0 0 1 0 0



MH24 7T FREARBIREZD—HREIZKYNBEANZEDH-ADO - HEHEH
[(H27.2.28TR7E )ATERBT & (KF) BIEH A A OHERR (55T

TEET (XF)a—F {TIET (KF) 4 10 11 12 13 14 15 16 17 18 19

9470 RETER 0 0 0 0 0 0 0 0 0 0
9480 RETHER 2 0 1 2 1 2 1 3 2 2
9999 REEXE 11 14 18 16 12 16 13 15 17 13

99999 a&t 1077 1156 1135 1179 1254 1227 1281 1314 1328 1173



XH24 7 IF REARBIREZD—HHEICKYNEAZEDH-AO-HFEH

(H27.2.2838 7% )4 T BT & (KF) Bl S ln Al A O 2 (S5

TERET (AF)a—F {TIET (K=F) & 20 21 22 23 24
10 H ET 5 3 3 3 5
20 [ st BT 1 0 3 2 0
30 1B HET 3 4 6 3 3
40 LRHET 0 2 2 0 2
50 AET—TH 5 0 1 6 8
60 ABTZ_TH 1 1 1 2 1
70 ABT=TH 10 5 2 5 8
80 AT YR AT 0 0 0 0 0
90 PR T I AT 1 5 1 3 8
100 b FLET 1 1 0 7 1
110 ¥ASTHET 25 26 25 14 25
120 NN 4 4 3 3 2
130 FEFET 2 7 6 9 6
140 £ ] T 0 0 0 0 1
150 eSS 11 8 8 15 1
9999 KRB XET 69 66 61 72 71
510 ABRTUTH 3 3 5 2 7
520 heEE ET 1 0 1 0 0
530 J\IEHT 3 3 4 2 3
540 oy i) 8 11 10 6 11
550 it AT 10 6 6 4 7
560 = ZRET 4 2 3 5 5
570 EEmT 1 1 0 2 0
580 HrhAET 1 4 0 0 4
590 HriEET 0 3 2 4 0
600 ANET 17 19 9 11 13
610 AHT 5 6 2 9 1
620 HAE—TH 0 0 1 1 0
9999 I\ XET 53 58 43 46 51
1010 EHHET 6 6 7 5 2
1020 L RET 3 3 9 3 10
1030 d A ET 5 3 3 6 2
1040 Fichayliil] 11 7 10 11 7
1050 KR HEHET 9 14 14 11 10
1060 F _EHT 12 6 16 6 7
1070 rr IR ET 16 1 10 7 17
1080 & H|ET 12 10 6 9 6
1090 HEHRT 15 9 11 6 8
1100 L BEHR 9 9 8 13 7
1110 f21ERT 1 3 3 3 7
1120 f21E JTHT 2 0 2 1 1
1130 +&<HT 0 2 0 0 0
1140 Fh R BT 0 1 0 1 0
1150 FRET—TH 0 0 3 3 3
1160 FEET—TH 4 5 6 0 4
1170 SE/KHT 1 2 4 3 3
1180 EBEAHT 10 6 8 7 2
1190 ¥ F AHT 2 4 2 4 1
1200 KFE—TH 3 3 5 0 1
1210 RKFEHEIZTH 3 2 3 2 4
1220 HHET 3 5 3 0 1
1230 FxHET 3 4 1 2 1
1240 1) 2 3 4 3 4
1250 TEEHT 3 1 2 2 4
1260 NBrh @ 0 1 0 0 0
1270 HEHE 4 2 7 4 2
1280 PRAEHT 3 1 3 4 3
1290 SRET 2 2 1 3 2
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MH24 7T FREARBIREZD—HREIZKYNBEANZEDH-ADO - HEHEH
[(H27.2.28TR7E )ATERBT & (KF) BIEH A A OHERR (55T

TEET (XF)a—F {TIET (KF) 4 20 21 22 23 24 25 26 271 28 29

1300 4 TEfT 5 3 2 2 2 2 1 4 3 2
1310 KRIGHET 4 1 0 2 2 0 2 2 3 0
9999 AR XE 153 129 153 123 123 119 137 139 166 177
1510 HEHD _E BT 20 18 20 13 13 10 11 23 22 13
1520 HEH T BT 10 11 8 12 15 9 10 16 12 12
1530 HE 0 ST BT 7 2 6 9 11 5 10 9 3 10
1540 KiaFHT 12 9 13 13 2 10 12 9 14 6
9999 HERNAR X B 49 40 47 47 41 34 43 57 51 4
2010 = BHRHET 3 0 2 2 1 3 7 1 4 4
2020 %= ErhHET 12 6 8 6 8 7 2 7 9 5
2030 HNET 1 0 1 0 1 0 1 1 1 0
2040 HET—TH 2 5 7 6 4 2 4 4 4 3
2050 HMET—TH 5 4 5 4 6 1 5 1 5 1
2060 ¥o FE BT 0 2 2 1 1 0 1 0 4 0
2070 FRET—TH 3 8 4 3 2 3 5 7 5 1
2080 FRET—TH 6 2 7 5 3 3 1 6 5 2
2090 =L:1:] 32 31 37 3 36 26 31 23 32 39
2100 ==pld:] 1 3 6 5 4 4 5 4 8 4
2110 HEAIEET—T B 4 4 5 5 7 3 3 2 4 3
2120 HENIERET =T B 12 8 4 3 2 9 3 5 8 5
9999 ZEREXE 81 73 88 70 75 61 68 61 89 67
2510 FA 5 BT 37 48 32 28 38 39 37 36 42 49
2520 K EEET 32 28 25 20 21 27 26 22 29 29
2530 = /NERET 5 5 9 6 9 9 12 6 9 11
2540 FHiGHT 15 11 3 4 8 8 10 13 7 4
2550 JPET 6 5 1 5 4 7 4 1 7 1
2560 = 50T 19 16 15 17 5 15 17 19 30 19
2570 KEHRT 0 2 1 1 0 1 0 0 1 3
9999 WERRXE 114 115 86 81 85 106 106 107 125 116
3010 RATHT 15 16 10 13 11 10 13 18 15 16
3020 mTHT 14 16 16 19 7 20 17 19 25 44
3030 L EFHT 19 16 17 16 8 13 15 12 19 20
3040 HES AT 4 0 1 1 2 2 4 1 1 2
3050 T BN ch BT 40 43 39 36 26 36 49 30 43 47
3060 HETHET 11 3 7 6 4 4 7 6 16 9
3070 T BREET 22 15 12 3 10 8 11 5 6 9
3080 =l==l:i) 8 9 9 10 10 8 6 8 5 12
3090 BT 9 9 8 6 1 6 1 10 8 9
3100 22 l==lsic: ) 8 11 15 23 18 10 14 18 16 20
3110 EZl==Fld:)) 6 7 7 6 5 12 15 12 8 12
9999 I\ TFIBRXET 156 145 141 139 102 129 152 139 162 200
3510 ER T 3 4 3 8 0 0 2 4 1 5
3520 E R 6 9 6 6 5 8 2 6 4 4
3530 ERTHT 20 15 23 16 24 18 22 16 12 20
3540 Z= R KHT 7 11 8 6 2 9 4 2 8 7
3550 A EFHT 17 13 15 20 15 17 17 10 20 10
3560 = T AT 8 3 1 4 2 6 3 12 8 3
3570 = T FaHlT 23 20 11 11 18 11 8 24 26 17
3580 S L BT 10 13 15 11 13 12 6 9 21 10
3590 JERT 0 0 0 0 0 0 0 0 0 0
9999 = ERRE 94 88 82 82 79 81 64 83 100 76
4010 )11 BT 1 5 5 6 3 3 2 3 6 7
4020 ESHT 3 3 1 2 1 2 2 0 0 1
4030 15T 7 6 3 5 4 1 4 1 1 7
4040 = HEAET 8 3 5 8 6 7 7 7 6 8
4050 K E/T 13 7 14 9 13 6 9 9 9 11
4060 e ) 4 4 5 4 13 7 6 11 4 8
4070 Jt [ ET 2 3 4 2 5 7 4 8 4 7



MH24 7T FREARBIREZD—HREIZKYNBEANZEDH-ADO - HEHEH
[(H27.2.28TR7E )ATERBT & (KF) BIEH A A OHERR (55T

TERET (AF)a—F {TIET (K=F) & 20

4080
4090
4100
4110
9999
4510
4520
4530
4540
4550
4560
4570
4580
4590
4600
4610
4620
9999
5010
5020
5030
9999
5510
5520
5530
5540
5550
9999
6010
6020
6030
6040
6050
6060
9999
6510
6520
6530
6540
6550
6560
6570
6580
6590
6600
6610
6620
6630
6640
6650
6660
9999
7010
7020
7030
7040
7050
9999

= LiHET
FRUER BT
Rl

Jt S FnET
R XE
EREE—ZRHT
ERE_FKHET
ERE=RAT
ERZEp FHT
ERE T THT
BREE N TEHET
AL+ FHT
EREE )\ HKHT
ERZE N BHT
AL+ FHET
ERE+ —FHET
B+ —FET
BERRXET
REF0 B £ RT
RB F1BA 5T
REFNE{_HT
AR FNR X &Y
o RET

= Hh AT
Ciy=1:)
AT

BHET

= i X 5T
FEI T /INER

fit] BT e

FEI T & )11

[l 3 R HT
JIIEB BT
JI| B BT 7
BEEMRRXET
B &R A#FEAET
HZEAKEEHT
BHEAFHHET
BEALWLTH
BEAM ZNET
B&EAIEILET
HEAIERHT
HEAEHET
H&EARHE
H&E A HET
HZEA EFHET
BHEAhEHET
HEA T
BH&EAEHET
HEAKHE
HEAFRHT
BEARRXE
ZRIMOmT
ZRKHET

Z RIRHAHET
ZRTXKEFHET
Z— RETHIGHET
ZRRRE
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MH24 7T FREARBIREZD—HREIZKYNBEANZEDH-ADO - HEHEH
[(H27.2.28TR7E )ATERBT & (KF) BIEH A A OHERR (55T

TEET (KF)a—F {TEET (KF) £ 20 21 22 23 24 25 26 27 28 29
8011 IRAETFEERLY 2 1 3 2 1 2 2 0 1 1
8012 IRABTFERA 1 6 2 3 4 0 0 3 2 3
8013 IRAETE R (& 0 3 0 2 3 1 2 0 3 0
8021 IR AHETIZRKLY 0 0 0 3 1 4 1 1 1 1
8022 IRAHETIRKA 0 0 0 0 0 0 0 0 0 0
8023 IR ARET K& 0 0 0 0 0 0 0 0 0 0
8031 IRAHET R ALY 2 3 1 2 1 1 3 2 5 1
8032 IRAET R AR A 0 1 0 0 1 0 1 0 1 0
8033 IRAET R A (& 1 0 1 0 0 0 0 0 0 0
8041 IR AHET ALY 1 2 0 3 0 0 1 0 0 1
8042 IRAET LIRS 1 1 2 2 1 0 0 0 0 2
8043 IR A HT B60% (X 0 0 0 0 0 0 0 0 0 0
8044 IR AHET 840F (1 0 0 1 0 2 0 0 0 1 0
8045 IR A HT 860% (F 0 0 0 0 2 0 0 0 0 1
8050 IRAET IR A 1 0 4 0 2 1 2 5 5 3
8060 R A ET R 3 0 1 4 4 2 4 3 1 0
8070 IRAETEAR 0 4 2 1 0 1 0 0 2 0
8080 IR A BT S %A 0 0 0 0 1 3 0 1 1 1
8090 IR A BT B 0 0 1 0 0 2 2 1 0 0
8100 IRAHET T /R 0 0 0 0 0 0 0 0 0 0
8110 IR A ET 1|55 2 3 0 1 0 2 1 0 0 0
8120 IR A ETER 2 2 2 1 1 0 1 0 0 1
8130 IRAHETH L 0 1 0 1 0 0 1 1 2 1
8140 IRAKETEEERT 5 3 3 1 0 2 0 2 1 2
8150 IRAETEEERL 4 2 1 4 2 0 0 2 1 0
9999 AR X ET 25 32 24 30 26 21 21 21 27 18
9010 FTHAREH 7 5 8 9 3 1 17 10 19 10
9020 FTHEHIEEAR 5 4 12 7 7 9 3 6 3 4
9030 FTH#HAEH 13 15 19 13 14 17 17 23 17 19
9040 FTHHEEE 26 20 19 29 17 24 27 20 29 24
9999 FTHREE 53 44 58 58 41 61 64 59 68 57
9110 EET T AL 14 9 7 7 9 12 4 9 4 7
9120 =T Ak 8 5 5 5 4 5 3 2 8 4
9130 FEHHRE 4 2 4 3 1 2 1 2 2 3
9140 SEET T AT 8 10 12 3 4 10 8 13 6 1
9150 SERT 45 10 5 9 4 4 6 4 11 4 12
9160 SEET S AT 11 12 15 1 7 13 15 9 18 11
9170 $ERTN A 15 13 16 20 23 12 18 15 17 19
9180 SEET 85 12 4 9 10 19 14 13 15 9 12
9190 $ERTZ A 3 2 8 1 0 1 2 4 3 4
9200 SR BT EF I 4 7 4 5 5 6 6 7 6 2
9210 $ERT = H 7 10 6 13 9 7 9 4 6 10
9220 55 BT i 12 7 9 5 12 7 8 9 10 13
9230 S T B M 12 15 12 15 13 7 17 13 13 8
9240 SERTIE R 14 4 11 4 4 6 8 4 7 3
9250 SEATAL Frih 7 13 14 12 722 11 15 10 20
9999 FERXET 141 118 141 118 121 130 127 132 123 139
9310 R[ZHET AR 2 1 1 4 4 3 1 3 3 3
9320 R I5HETAL 3 7 1 5 3 3 4 5 2 7
9330 R I5ET/INE 1 1 2 2 0 5 3 2 8 2
9340 RIGETE 10 12 8 10 3 8 3 7 4 3
9999 RGHRXET 16 21 12 21 10 19 11 17 17 15
9410 RETT&E 6 7 5 5 5 8 5 15 6 5
9420 RHETHHE 2 2 2 3 1 3 2 4 2 1
9430 RETEXR 2 3 1 3 1 1 3 0 3 1
9440 RETAGEF 0 0 0 0 0 0 0 0 0 0
9450 SRETHER 0 0 0 0 2 0 0 0 0 0
9460 RETCHE 0 0 0 0 0 1 0 0 0 0



MH24 7T FREARBIREZD—HREIZKYNBEANZEDH-ADO - HEHEH
[(H27.2.28TR7E )ATERBT & (KF) BIEH A A OHERR (55T

TERET (AF)a—F {TIET (K=F) & 20 21 22 23 24 25

9470 RETER 0 0 0 0 0 0
9480 RETHER 1 1 1 0 0 0
9999 REEXE 11 13 9 11 9 13

99999 A&t 1224 1176 1164 1129 1040 1077

26 27
0 0
0 0
10 19
1123 1187

28
0

0

11
1251

29
0

0

7
1285



MH24 7T FREARBIREZD—HREIZKYNBEANZEDH-ADO - HEHEH
[(H27.2.28TR7E )ATERBT & (KF) BIEH A A OHERR (55T

TEET (KF)a—F {TEET (KF) £ 30 31 32 33 34 3 3 37 38
10 H ET 4 3 3 4 3 1 2 2 4
20 [ st BT 3 3 2 3 2 4 7 7 6
30 1B HET 7 0 3 4 1 5 7 2 7
40 LRHET 1 7 1 1 1 4 3 3 1
50 AET—TH 3 2 6 3 3 4 3 2 4
60 ABTZ_TH 1 5 6 2 5 6 9 5 5
70 ABT=TH 4 6 6 6 4 4 5 14 4
80 KT I T 0 0 1 0 0 1 2 0 1
90 PR T I AT 5 3 6 2 1 1 2 11 4
100 b FLET 1 0 1 2 3 3 4 5 0
110 ¥ASTHET 21 22 29 30 22 28 24 29 43
120 AT ARHT 2 5 2 5 4 6 7 5 4
130 FEFET 8 10 4 7 7 6 7 7 10
140 £ ] T 0 0 0 0 0 0 0 1 1
150 eSS 13 13 14 7 12 15 6 8 9
9999 KRB XET 73 79 84 76 68 88 88 101 103
510 ABRTUTH 11 10 4 5 10 12 14 18 7
520 hEEEHT 4 1 3 10 5 2 5 4 6
530 J\IEHT 6 6 5 9 4 9 5 8 2
540 oy i) 6 4 8 9 12 8 10 12 10
550 Hrith BT 6 6 3 5 8 4 6 8 10
560 = BEHET 1 2 2 3 2 3 0 1 1
570 EERT 1 0 2 2 1 0 3 4 3
580 HrBAET 4 7 4 3 3 3 2 1 2
590 HriEET 0 1 0 1 0 1 1 0 0
600 ANET 17 15 16 14 9 16 22 13 15
610 AHT 1 1 2 4 4 6 4 6 2
620 HAE—TH 0 0 0 0 0 0 0 0 0
9999 J\RBREXET 57 53 49 65 58 64 72 75 58
1010 EHHET 5 5 6 6 2 4 2 1 3
1020 L RET 14 7 10 8 7 12 15 10 12
1030 d A ET 7 4 9 4 6 15 11 9 11
1040 i ayil] 12 16 19 15 14 12 13 12 7
1050 K EBT 13 14 13 13 17 11 16 21 16
1060 F _EHT 9 13 10 13 8 13 5 12 12
1070 wr IR ET 22 18 13 17 22 23 14 19 8
1080 E HHT 13 17 10 11 11 8 9 8 18
1090 HEHr 14 13 11 13 12 12 17 16 17
1100 L BEHr 11 8 13 18 14 17 8 11 17
1110 f21ERT 6 3 4 3 7 5 5 4 1
1120 f21E JTHT 0 0 0 0 0 2 4 2 0
1130 + 0T 2 0 1 1 0 0 0 1 0
1140 FRRET 0 0 0 0 0 1 0 0 0
1150 FRET—TH 4 1 3 6 2 7 4 3 4
1160 FEET—TH 1 3 3 3 5 8 6 2 1
1170 SE/KHT 5 6 7 3 4 4 6 6 1
1180 EEEFLET 0 4 5 1 4 5 7 3 5
1190 1 FAHT 4 6 2 3 1 3 4 5 1
1200 KFE—TH 1 5 1 2 3 1 2 4 4
1210 RKFEHEIZTH 1 2 3 2 3 8 5 3 1
1220 HHET 1 6 2 0 7 3 1 6 2
1230 FkHET 2 1 5 2 3 2 6 1 0
1240 5T 4 2 2 4 1 5 4 2 2
1250 TEEET 2 3 3 5 7 4 3 1 0
1260 NBrh @ 1 1 0 0 2 0 2 2 1
1270 HEHE 4 4 4 3 4 2 4 5 4
1280 PRAEHT 8 4 0 2 5 4 3 6 4
1290 SRET 5 6 3 3 2 5 4 4 6
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MH24 7T FREARBIREZD—HREIZKYNBEANZEDH-ADO - HEHEH
[(H27.2.28TR7E )ATERBT & (KF) BIEH A A OHERR (55T

TERET (AF)a—F {TIET (K=F) & 30 31 32 33 34 35 36

1300 A ZEMT 3 3 2 5 2 1 5
1310 KRIGHET 0 0 0 0 0 1 1
9999 AR XE 174 175 164 166 175 198 186
1510 HEHD _E BT 7 16 9 9 15 21 23
1520 HEH T BT 9 8 12 18 13 14 24
1530 HE 0 ST BT 7 4 5 4 4 5 6
1540 KiaFHT 9 11 12 7 10 16 10
9999 HERNAR X B 32 39 38 38 42 56 63
2010 = BHRHET 4 7 11 6 2 8 7
2020 %= ErhHET 11 15 10 9 8 8 8
2030 HNET 0 0 0 0 2 0 0
2040 HET—TH 2 2 2 4 2 2 3
2050 HMET—TH 7 2 2 6 6 3 3
2060 ¥o FE BT 1 0 1 1 1 4 0
2070 FRET—TH 9 10 4 7 3 5 6
2080 FRET—TH 2 5 7 3 2 7 6
2090 ¢4 29 43 35 48 50 38 28
2100 ==pld:] 8 4 15 1 10 8 10
2110 HEAIEET—T B 5 6 0 2 5 2 6
2120 HENIERET =T B 1 7 7 5 7 12 7
9999 ZEREXE 79 101 94 102 98 97 84
2510 FA 5 BT 49 48 46 61 59 47 71
2520 K fe BT 35 42 36 45 27 37 41
2530 = /NERET 7 6 8 9 3 11 2
2540 FHIGHET 6 6 4 8 5 7 9
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9200 SR BT EF I 6 6 5 4 3 0 7 5 6 7
9210 $ERT = H 6 11 12 14 8 9 15 13 9 12
9220 $EAT I 16 15 14 16 12 9 18 13 18 13
9230 SEET B M 9 17 13 23 10 13 16 17 13 15
9240 SERTIE R 5 5 4 4 5 7 5 6 7 8
9250 $ERTIL Frith 11 8 16 12 13 10 15 10 8 10
9999 FERXET 169 186 156 181 161 145 180 169 168 178
9310 R[ZHET AR 4 2 6 5 2 3 2 3 5 6
9320 R I5HETAL 9 6 7 5 6 8 3 7 4 7
9330 R ISET/INE 2 4 2 3 2 4 5 3 0 5
9340 RIZHTE 12 5 5 5 10 6 7 11 13 13
9999 RGHRXET 27 17 20 18 20 21 17 24 22 31
9410 RETE 10 4 5 6 6 7 6 7 14 10
9420 RETHAE 3 5 4 2 3 6 6 5 3 5
9430 RETEXR 3 4 0 3 6 2 3 8 2 4
9440 RETAEF 1 0 0 0 0 0 0 1 0 1
9450 SRETHER 1 1 0 0 0 0 0 0 0 2
9460 RETCHE 2 0 1 1 0 0 0 0 0 2
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10 H ET 5 5 5 5 5
20 [ st BT 2 1 3 0 4
30 1B HET 5 4 8 2 6
40 LRHET 1 0 2 4 1
50 AET—TH 4 9 5 7 6
60 ABTZ_TH 1 2 0 2 5
70 ABT=TH 18 11 10 5 8
80 AT YR AT 1 0 2 0 1
90 PR T I AT 3 2 6 5 4
100 b FLET 1 5 3 0 5
110 ¥ASTHET 41 33 31 25 28
120 NN 3 4 5 6 5
130 FEFET 12 7 4 6 13
140 £ ] T 0 0 0 0 0
150 eSS 16 10 5 9 4
9999 KRB XET 113 93 89 76 95
510 ABETMTH 6 6 5 9 9
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560 = ZHET 5 2 4 3 4
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580 HrhAET 4 0 4 3 2
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1030 th BT 3 4 12 10 4
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1300 A ZEMT 4 4 3 3 4 5 3
1310 KRIGHET 1 2 3 7 3 4 5
9999 AR XE 202 198 226 213 195 220 191
1510 HEHD _E BT 29 18 13 13 19 16 24
1520 HEH T BT 16 13 13 26 20 22 15
1530 HE 0 ST BT 9 11 5 7 7 11 12
1540 KiaFHT 13 17 12 8 20 17 14
9999 HERNAR X B 67 59 43 54 66 66 65
2010 = BHRHET 6 3 0 5 3 4 3
2020 %= ErhHET 4 8 11 8 6 6 12
2030 HNET 0 0 1 0 0 0 1
2040 HWET—TH 8 4 4 4 6 4 5
2050 HMET—TH 4 4 0 1 5 3 3
2060 ¥o HE T 0 0 1 2 2 0 3
2070 FRET—TH 7 7 3 3 10 8 10
2080 FRET—TH 4 6 4 8 4 2 3
2090 ¢4 51 31 40 54 55 36 44
2100 ==pld:] 3 9 3 5 2 5 9
2110 HEAIEET—T B 8 7 1 7 8 6 8
2120 BRI =T B 6 11 8 4 3 4 14
9999 ZERKE 101 90 86 101 104 78 115
2510 FA 5 BT 55 44 54 56 55 53 57
2520 KEEET 34 37 3 31 33 39 37
2530 = /N HET 10 6 11 10 13 13 6
2540 HiGHT 10 13 12 19 9 13 13
2550 JPET 9 8 2 3 7 10 6
2560 = BT 25 17 22 19 25 22 35
2570 KEHRT 1 1 1 1 2 3 2
9999 WERRXE 144 126 137 139 144 153 156
3010 RATHET 29 24 28 19 26 23 26
3020 mTHT 22 24 21 19 20 20 26
3030 L EET 28 26 14 23 19 20 16
3040 HES AT 3 5 2 3 3 7 2
3050 HES R ET 53 40 42 48 65 56 44
3060 HEETHT 9 13 17 10 13 20 12
3070 T BREET 12 1 9 8 9 22 13
3080 H ch T 8 9 11 5 12 9 8
3090 BT 8 4 12 13 7 13 5
3100 A o P ET 15 16 9 1 13 13 13
3110 EZl==Fld:)) 14 14 15 1 15 20 20
9999 I\ TFIBRXET 201 186 180 170 202 223 185
3510 S E EAT 10 11 7 4 6 11 6
3520 Z R hHET 6 10 7 8 7 14 6
3530 EETH 23 18 27 23 23 28 24
3540 Z R KHET 17 7 10 18 15 9 8
3550 A EFHET 15 17 23 23 21 23 28
3560 = T AT 1 4 7 17 8 6 6
3570 =TT 14 21 6 24 23 17 26
3580 S\l FhT 14 14 4 23 8 16 14
3590 JERT 0 1 0 1 0 0 0
9999 = ERRE 100 103 91 141 111 124 118
4010 )11 BT 1 8 6 8 5 6 11
4020 ESHT 2 0 1 3 2 0 1
4030 15T 9 4 10 7 5 6 6
4040 = HEAET 5 6 7 3 7 4 4
4050 K EHT 9 16 15 15 13 14 10
4060 ER 4 HHET 7 4 4 8 6 6 6
4070 Jt [ ET 8 6 8 6 6 2 6
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4080 =T HAET 1 6 5 9 3 6
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4100 A FFNET 2 3 2 4 9 8
4110 Jt FFOET 3 2 3 4 9 5
9999 R XE 54 61 69 79 77 67
4510 ERE—FHET 18 15 20 19 21 26
4520 EEZFMET 3 0 9 4 4 4
4530 ARE=FEHT 1 5 5 9 5 8
4540 AR FHT 3 4 5 4 4 4
4550 AR A FMET 3 1 3 5 2 1
4560 BREE N TEHET 1 1 2 2 1 4
4570 ARECFHET 4 5 2 5 6 2
4580 AREE)\FEHT 0 1 1 0 2 5
4590 AR N FHET 2 0 1 2 0 4
4600 AL+ FHET 3 7 3 3 4 5
4610 ARE+—ZHET 8 3 4 10 2 4
4620 B+ — FKMET 5 10 5 4 9 9
9999 BERRXET 51 52 60 67 60 76
5010 RE#0 B HEHT 9 4 5 9 6 6
5020 B AN BA &L ET 10 3 6 6 2 4
5030 REFORE{ZHT 5 10 8 8 3 1
9999 AR FNR X &Y 24 17 19 23 11 21
5510 o R ET 7 4 16 5 8 6
5520 = Hh BT 13 17 11 15 16 16
5530 k=Y 13 1 13 12 9 13
5540 HERT 4 4 5 9 7 8
5550 BRET 5 1 2 1 3 4
9999 =R XE 42 37 41T 42 43 47
6010 i) BT /)N B 1 2 3 5 2 4
6020 fit] BT 4 3 3 4 7 5
6030 e BT &)1 1 5 0 3 3 5
6040 = R [T 7 7 5 7 10 7
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6650 HEAKHE 0 1 0 1 0 0
6660 HEAFRHT 0 0 0 0 0 0
9999 HEARRE 29 32 35 31 3 30
7010 ZRIMOm 7 3 4 2 6 5
7020 — RKHT 4 10 13 15 6 9
7030 Z RIRHAHET 3 4 4 3 1 3
7040 ZRTKEFHET 6 3 7 8 9 12
7050 Z REFHIGHET 4 3 4 5 5 4
9999 ZR®EXE 24 23 32 33 271 33

(<)
(o]
(&;]
~
(<)
o
($)]
©

©
(-]
—_
w
~

—_
w
©
o
~

~
~
—_
N
—_
(&)}

—_
—_
—_
N
©
—_
—_

(ee]
N
©
w
(o]
(-]
©
~

N
o
—
(-]
N
»
N
w

(2]

~
WA PAOOANOSODWWOLOW—-NO WO

GNWOOW—-=DNWRRWWNOONO

—_

—_ - [3)]
I NOWPhOOO=NANWNNYOIO
—

oS
- N
—_
o O

iy
o
ju—y
N

N
N

N
[
(4]
I
w

A O OCWADN
—
g oOonNDOGD

w
N
wW
N
wW

w
w
N
ol

WOIN—=JOWOONWO—=OINNJdOONDIDMON DO WAPRODPRWOTOOARANDIDBANOWNNdWOAWNDNDNWAEDN
—

D PO WOOW—LOOOWO—-=NMNOMNMNOGUGOMNMNNMNMNAAYTLOWONOOUOIO A~ W

QOO PP, OOO—-=NO—=DNNAI—=WWOLWOLI O
T O OO NNOOON—-=NNOOaO—-=WOGIOl A~ OO 4O ©o

wW
N
N
wW



MH24 7T FREARBIREZD—HREIZKYNBEANZEDH-ADO - HEHEH
[(H27.2.28TR7E )ATERBT & (KF) BIEH A A OHERR (55T

TEET (KF)a—F {TEET (KF) £ 50 51 52 53 54 55 56 57 58 59
8011 IRAETFEERLY 3 2 4 0 3 3 1 3 1 3
8012 IRABTFERA 4 4 6 6 7 5 7 1 8 2
8013 IRAETE R (& 1 1 2 1 1 5 6 1 0 2
8021 IR AHETIZRKLY 3 1 2 2 1 2 4 2 4 5
8022 IRAHETIRKA 0 0 0 0 0 1 0 0 0 1
8023 IR ARET K& 0 0 0 0 0 0 0 0 0 0
8031 IRAHET R ALY 5 1 7 4 4 1 4 8 5 6
8032 IRAET R AR A 0 0 0 0 0 2 0 1 2 1
8033 IRAET R A (& 0 0 0 0 1 2 1 0 0 1
8041 IR AHET ALY 1 0 2 0 1 3 3 1 4 2
8042 IRAET LIRS 0 1 3 2 2 2 3 2 0 0
8043 IR A HT B60% (X 0 1 0 1 0 0 0 0 2 2
8044 IR AHET 840F (1 0 0 1 1 2 3 1 4 1 1
8045 IR A HT 860% (F 1 0 3 1 4 0 1 4 0 1
8050 IRAET IR A 6 3 4 1 4 5 6 4 4 5
8060 R A ET R 3 3 5 3 6 10 5 5 4 8
8070 IRAETEAR 1 3 2 3 5 4 3 3 5 9
8080 IR A BT S %A 0 1 1 2 4 4 2 5 4 3
8090 IR A BT B 1 1 0 0 1 2 3 0 1 2
8100 IRAHET T /R 0 0 0 1 0 0 0 0 0 0
8110 IR A ET 1|55 1 0 1 1 3 1 1 1 3 2
8120 IR A BT EE 1 1 3 0 3 1 3 4 1 2
8130 IRAETA E 3 1 2 6 3 2 3 5 1 0
8140 IRAKETEEERT 3 4 5 2 4 5 2 4 4 7
8150 IRAETEEERL 3 4 2 5 2 2 2 6 5 1
9999 IRAR X ET 40 32 55 42 61 65 61 64 59 66
9010 FTHAREH 20 12 24 13 9 15 22 20 14 22
9020 FTHEHIEEAR 12 11 9 9 12 7 12 8 8 9
9030 FTH#HAEH 26 31 25 27 30 33 26 33 39 28
9040 FTHEHEE 35 37 33 34 43 46 37 32 38 41
9999 FTHREE 95 91 91 83 94 101 97 93 99 100
9110 EET T AL 12 15 19 12 12 8 6 1 16 16
9120 =T Ak 8 6 6 4 4 3 6 3 3 13
9130 FEHHRE 1 6 4 7 5 3 10 4 6 6
9140 SEET T AT 11 8 14 18 12 17 13 24 14 17
9150 SR 85 13 10 12 23 13 22 7 12 10 17
9160 SEET S AT 19 15 17 15 23 16 18 14 20 16
9170 $ERTN A 21 31 22 26 34 31 21 23 27 22
9180 SEET 85 14 13 15 18 15 14 24 171 25 19
9190 $RETZ O 1 3 3 2 7 5 6 7 9 13
9200 SR HT B 4 5 8 11 12 13 3 10 9 7
9210 $ERT = H 5 10 6 8 22 11 9 15 10 12
9220 $EAT I 14 19 18 12 14 10 14 16 20 19
9230 S T B M 22 15 22 19 25 20 25 21 18 21
9240 SERTIE R 10 11 9 4 10 14 7 14 6 9
9250 SEATAL Frih 16 15 16 14 13 16 14 18 25 15
9999 FERXET 171 182 191 193 221 203 183 209 218 222
9310 R[ZHET AR 3 4 10 12 10 4 7 8 11 10
9320 RIFATIE 10 7 8 6 10 5 9 9 10 13
9330 R I5ET/INE 8 3 2 5 7 7 8 8 6 12
9340 RIGETE 23 10 16 9 9 10 9 8 18 13
9999 RGHRXET 4 24 36 32 36 26 33 33 45 48
9410 RETE 17 9 14 6 12 9 15 16 13 11
9420 RHETHHE 7 5 2 5 7 4 8 10 9 5
9430 RETEXR 1 4 3 4 3 5 3 4 7 5
9440 RETAEF 0 1 1 1 0 0 0 0 1 1
9450 RETHE[R 0 0 2 0 0 1 1 1 1 1
9460 RETCHE 0 0 0 1 3 2 0 2 1 3
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TERET (AF)a—F {TIET (K=F) & 60 61 62 63 64 65 66

1300 A ZEMT 3 3 2 2 8 3 5
1310 KRIGHET 3 0 2 1 1 0 3
9999 AR XE 215 186 218 206 245 261 280
1510 HEHD _E BT 22 22 19 19 32 23 28
1520 HEH T BT 29 28 19 27 35 24 34
1530 HE 0 ST BT 14 6 15 8 10 14 11
1540 KiaFHT 29 15 22 17 22 20 25
9999 HERNAR X B 94 71 75 71 99 81 98
2010 = BHRHET 1 3 5 3 6 10 11
2020 %= ErhHET 6 5 7 7 6 6 5
2030 HNET 0 0 0 0 1 4 4
2040 HET—TH 4 3 3 9 7 7 13
2050 HMET—TH 4 4 9 6 11 7 5
2060 ¥o HE T 2 3 1 1 1 3 4
2070 FRET—TH 4 7 12 6 8 13 9
2080 FRET—TH 2 6 8 4 6 9 11
2090 ¢4 54 64 71 64 60 83 68
2100 ==pld:] 8 8 8 5 4 11 12
2110 HEMIETET—T B 9 7 12 9 11 6 13
2120 WEHIFETZ=TH 10 10 9 9 12 10 9
9999 ZEREXE 104 120 145 123 133 169 164
2510 FA 5 BT 56 55 52 52 59 72 85
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2530 = /N HET 11 10 19 9 8 18 7
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2550 JPET 9 8 5 12 7 4 14
2560 =BT 32 26 27 31 33 43 45
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9999 WERRXE 156 161 159 166 170 208 222
3010 RATHET 26 28 34 32 34 371 41
3020 B iTHT 20 31 30 29 24 34 33
3030 L EET 22 24 19 23 20 20 29
3040 HES AT 4 10 6 4 2 7 4
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3070 T BRERT 11 15 15 21 18 23 11
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3510 ER T 3 7 6 9 12 9 12
3520 E R 11 12 14 3 9 21 17
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3540 Z R KHET 8 13 13 17 14 19 22
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3560 = T AT 17 13 16 9 13 12 12
3570 =TT 29 28 30 27 32 43 33
3580 SE L FrET 18 18 12 15 23 17 29
3590 JERT 0 0 0 1 1 0 1
9999 = ERRE 135 151 151 135 156 186 202
4010 21| N ET 9 7 9 1 18 18 19
4020 ESHT 0 6 5 3 3 2 6
4030 15T 7 7 8 16 10 9 17
4040 = HEAET 4 10 7 8 5 5 6
4050 K E/T 15 18 16 21 23 9 24
4060 EBEF HET 9 12 13 6 7 8 11
4070 e R AT 2 5 2 5 3 6 11
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TEET (KF)a—F {TEET (KF) £ 60 61 62 63 64 65 66 67 68 69
4080 =;TiHmT 5 10 8 9 9 7 3 8 10 6
4090 FR B ET 8 15 16 7 10 1 11 10 17 7
4100 A EFNET 8 7 8 2 5 4 4 8 2 1
4110 Jt FFOET 11 8 8 1 9 5 8 12 2 1
9999 R XE 78 105 100 89 102 84 120 115 93 47
4510 ERE—FHET 36 22 27 3 3 33 26 28 28 17
4520 B FKMET 5 14 4 6 7 9 5 3 2 3
4530 ARE=FEHT 4 3 7 6 5 7 6 5 2 1
4540 AL EET 8 3 4 7 2 5 9 2 3 1
4550 AR A FMET 3 2 4 2 1 0 4 2 1 2
4560 BREE N TEHET 4 1 2 2 2 1 1 1 1 1
4570 L FHET 2 3 4 5 2 6 7 13 9 1
4580 AREE)\FEHT 3 2 5 4 7 3 7 2 2 4
4590 FRENEHET 4 4 3 4 5 4 2 3 2 2
4600 AL+ FHET 3 4 3 1 1 2 1 2 1 0
4610 ERE+ —FHET 2 6 7 1 4 3 7 3 3 5
4620 B+ — FKMET 7 13 6 9 7 7 9 8 8 3
9999 BERRXET 81 77 76 82 78 80 84 72 62 40
5010 RE#0 B HEHT 4 7 12 7 5 8 6 9 8 2
5020 B AN BA &L ET 8 4 4 10 7 9 5 3 4 5
5030 REF0E{_ET 6 7 8 5 2 7 5 7 2 4
9999 RBFIR X ET 18 18 24 22 14 24 16 19 14 11
5510 o RET 11 20 12 10 8 8 4 12 6 9
5520 = Hh T 19 14 12 24 24 27 23 35 14 11
5530 =y 13 16 17 26 14 14 17 19 20 3
5540 =y 6 18 17 10 9 14 7 9 10 6
5550 RHET 5 4 1 3 3 7 3 4 3 4
9999 =R XE 54 72 59 73 58 70 54 79 53 33
6010 i) BT /)N B 6 6 4 2 3 7 6 4 5 1
6020 fit] BT 3 7 9 2 9 4 4 6 2 1
6030 RE BT &)1 6 7 3 1 3 6 4 1 1 0
6040 = R [T 10 10 10 9 7 14 5 9 5 7
6050 JIIEB BT 5 5 7 5 7 9 5 8 8 2
6060 JIIEB BT 7 8 12 7 6 7 5 6 1 3
9999 BEERXET 37 43 45 26 35 47 29 34 22 14
6510 HEA#EAHET 2 2 1 0 0 0 0 1 0 0
6520 HE A KIEHT 9 14 9 8 14 12 14 13 7 5
6530 BHEAFHHET 5 10 6 3 7 3 7 3 5 4
6540 HEAILTH 9 6 11 10 4 9 13 9 8 10
6550 HEAMN 2 NHET 12 0 6 5 4 1 5 1 3 1
6560 HEAEALHT 5 4 4 4 8 5 7 8 7 1
6570 HZE AR 5 2 4 5 6 13 10 5 12 5
6580 HZEAEHRT 7 7 4 4 5 8 3 6 1 1
6590 HEARHE 0 2 1 3 1 2 1 2 3 3
6600 HZEADH 5 2 8 5 3 3 3 3 4 3
6610 HEA LTEHT 3 4 2 1 3 2 2 1 2 1
6620 HZEA DA 1 0 2 2 5 3 2 1 2 1
6630 HEATEHAT 4 4 4 2 1 7 2 5 2 2
6640 HEARA EBHT 0 4 1 4 3 2 0 2 4 2
6650 HEAKHE 0 0 0 0 0 0 0 0 0 0
6660 HZEAERHT 0 0 0 0 0 1 0 0 0 0
9999 HEARRE 67 61 63 56 64 71 69 60 60 39
7010 ZRiMOHmT 8 7 4 8 10 10 16 10 4 6
7020 Z RAKHET 9 9 17 7 16 10 12 12 5 6
7030 Z RIRHAHET 3 5 11 9 4 7 1 9 3 2
7040 Z R KEFHT 16 11 14 8 3 14 11 7 4 8
7050 Z REFHIGHET 3 4 2 7 9 9 1 5 4 6
9999 ZRERRXE 39 36 48 39 42 50 41 43 20 28



XH24 7 IF REARBIREZD—HHEICKYNEAZEDH-AO-HFEH

(H27.2.2838 7% )4 T BT & (KF) Bl S ln Al A O 2 (S5

TERET (AF)a—F {TIET (K=F) & 60 61 62 63 64
8011 IRAETFEERLY 3 1 4 1 8
8012 IRABTFERA 3 6 10 7 6
8013 IRAETE R (& 2 2 2 7 6
8021 IR AHETIZRKLY 3 1 9 3 5
8022 IRAHETIRKA 0 0 0 0 0
8023 IR ARET K& 0 0 2 0 0
8031 IRAHET R ALY 9 9 3 8 14
8032 IRAET R AR A 0 0 0 1 0
8033 IRAET R A (& 1 2 0 0 2
8041 IRAHETBEIFLY 2 3 2 2 3
8042 IRAET LIRS 2 1 1 0 3
8043 IR A HT B60% (X 2 1 0 0 1
8044 IRART 85I 0 1 0 2 1
8045 IR A HT 860% (F 2 0 0 3 1
8050 IRAET IR A 9 5 7 5 5
8060 R A ET R 5 1 3 6 9
8070 IRAETEAR 6 6 8 11 9
8080 Y A< BT S48 4 2 3 2 o
8090 IR A BT B 0 2 4 2 4
8100 IRAETH /R 0 1 2 0 1
8110 IR A ET 1|55 0 1 3 3 3
8120 IR A ETER 8 2 2 3 5
8130 IRAETA E 0 5 4 1 4
8140 IRAKETEEERT 9 5 6 4 9
8150 IRABTEFEEL 3 3 9 8 5
9999 AR X ET 73 60 84 79 109
9010 FTHEHIREH 15 22 17 26 26
9020 FTHEHIEEAR 13 15 13 16 17
9030 FTH#HAEH 41 35 31 36 34
9040 FTHEHEE 36 38 43 46 33
9999 FTHREE 105 110 104 124 110
9110 SEHTHIE 9 13 15 26 21
9120 SEHTHIE 12 9 7 10 11
9130 FEHHRE 7 4 3 5 5
9140 SEET T AT 11 7 16 28 17
9150 $EET 63 14 17 21 11 15
9160 SERTEEAT 24 22 19 33 12
9170 $ERTINE 30 22 20 34 23
9180 FEETER 24 13 32 15 17
9190 $ERTZ A 10 6 9 6 11
9200 SR HT B 5 5 8 7 15
9210 SEET = 18 14 9 18 9
9220 55 BT i 18 11 18 19 12
9230 SEET B M 19 36 24 26 23
9240 SERTIE R 10 13 7 6 9
9250 $ERTIL Frith 24 19 21 18 12
9999 FERXET 235 211 229 262 212
9310 R[ZHET AR 6 12 8 7 6
9320 RIZATL 6 5 8 10 10
9330 RIZET/INAE 8 5 7 12 6
9340 HIZETE 21 19 9 13 20
9999 RGHRXET 41 41 32 42 42
9410 RETE 14 14 15 17 10
9420 RETHAE 13 10 19 8 12
9430 RETEXR 5 7 6 3 7
9440 RETAGEF 1 0 0 0 0
9450 SRETHER 0 0 2 2 0
9460 RETCHE 3 1 1 2 0
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[(H27.2.28TR7E )ATERBT & (KF) BIEH A A OHERR (55T

TERET (AF)a—F {TIET (K=F) & 60 61 62 63 64 65 66 67

9470 RETER 3 0 1 0 0 0 1 0
9480 RETHEAR 2 3 2 2 2 3 5 6
9999 REEXE 41 35 46 34 31 43 60 42

99999 a&t 1990 1970 2084 2083 2175 2407 2461 2283

68 69
0 1
3 2
34 25
1712 1228



XH24 7 IF REARBIREZD—HHEICKYNEAZEDH-AO-HFEH

(H27.2.2838 7% )4 T BT & (KF) Bl S ln Al A O 2 (S5

TERET (AF)a—F {TIET (K=F) & 70 71 72 73 74
10 H ET 0 1 5 2 1
20 [ st BT 3 3 6 2 6
30 B HT 6 5 5 8 9
40 LRHET 7 4 4 6 2
50 AET—TH 6 10 7 4 4
60 ABTZ_TH 8 8 5 2 3
70 ABT=TH 4 8 14 8 8
80 AT YR AT 0 0 2 0 1
90 PR T I AT 9 5 6 12 5
100 b FLET 6 2 5 1 3
110 ¥ASTHET 13 22 23 21 21
120 NN 2 3 4 8 2
130 FEFET 17 12 11 10 7
140 £ ] T 0 0 0 0 0
150 eSS 5 8 4 11 9
9999 KRB XET 86 91 101 95 81
510 ABRTUTH 11 8 19 12 13
520 heEE ET 2 5 5 3 1
530 J\IEHT 4 6 3 8 5
540 oy i) 6 11 16 10 9
550 it AT 9 7 15 9 9
560 = ZHET 3 4 2 8 1
570 EEmT 1 2 2 1 0
580 HrhAET 5 3 1 3 3
590 HriEET 2 3 4 0 1
600 ANET 10 12 17 14 9
610 AHT 7 5 4 7 6
620 HAE—TH 0 0 0 0 0
9999 I\ XET 60 66 88 75 57
1010 B HT 2 4 3 9 8
1020 L RET 10 7 8 7 4
1030 d A ET 8 7 5 10 12
1040 Fichayliil] 8 13 12 2 7
1050 KR HEHET 13 1 10 14 12
1060 F _EHT 12 10 15 8 5
1070 rr IR ET 13 16 15 10 12
1080 E HHET 9 4 7 8 11
1090 HERT 12 23 17 12 15
1100 L BEHR 16 17 11 11 14
1110 f21ERT 10 3 8 3 6
1120 f21E JTHT 3 3 1 5 2
1130 +5<HT 2 3 1 1 0
1140 Fh R BT 2 1 0 0 0
1150 FRET—TH 3 5 9 9 5
1160 FEETZTH 3 5 12 7 6
1170 SE/KHT 7 6 7 6 5
1180 EBEAHT 10 7 5 7 13
1190 ¥ F AHT 7 8 2 5 4
1200 KFE—TH 4 2 4 6 4
1210 RKFEHEIZTH 6 4 1 4 4
1220 HrHT 3 3 4 2 3
1230 FxHET 3 5 7 1 4
1240 HEHT 7 4 6 2 2
1250 TEEET 2 4 3 4 6
1260 NBrh @ 1 3 0 3 2
1270 EHEH 2 1 1 3 2
1280 PRAEHT 4 6 1 5 5
1290 SRET 8 2 4 7 4
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MH24 7T FREARBIREZD—HREIZKYNBEANZEDH-ADO - HEHEH
[(H27.2.28TR7E )ATERBT & (KF) BIEH A A OHERR (55T

TERET (AF)a—F {TIET (K=F) & 70 71 72 73 74 75 76

1300 A ZEMT 5 2 1 5 8 3 1
1310 KRIGHET 2 4 0 1 1 1 1
9999 AR XE 197 193 180 177 186 163 157
1510 HEHD _E BT 19 23 26 26 21 12 17
1520 HEH T BT 27 25 25 20 16 16 17
1530 HE 0 ST BT 13 10 10 12 14 7 10
1540 KiaFHT 18 9 15 16 14 10 11
9999 HERNAR X B 77 67 76 74 65 45 55
2010 = BHRHET 5 8 5 4 3 6 4
2020 %= ErhHET 6 5 6 5 6 4 6
2030 HNET 0 0 2 0 1 0 0
2040 HET—TH 7 2 5 7 4 4 9
2050 HMET—TH 8 7 7 4 5 5 5
2060 ¥o HE T 1 2 2 2 1 1 0
2070 FRET—TH 6 6 8 11 8 3 8
2080 FRET—TH 5 9 3 4 6 4 7
2090 ¢4 49 62 48 39 38 49 40
2100 ==pld:] 4 4 4 6 4 7 3
2110 HEAIEET—T B 4 5 11 3 8 10 3
2120 BRI =T B 7 8 7 8 5 4 4
9999 ZEREXE 102 118 108 93 89 97 89
2510 FA 5 BT 54 44 53 54 42 43 36
2520 K fe BT 21 19 23 13 11 15 12
2530 = /NERET 4 4 7 8 10 7 9
2540 FHiSHT 16 12 19 24 18 12 11
2550 JPET 4 10 7 5 4 9 10
2560 =11 26 23 24 31 28 21 21
2570 KEHT 1 1 2 5 3 4 2
9999 WERXE 126 113 135 140 116 111 101
3010 RH+TET 41 23 28 33 28 31 16
3020 mTHT 22 11 13 25 14 22 14
3030 L EFHT 15 20 19 17 17 15 16
3040 HES AT 5 4 8 5 2 5 4
3050 B ET 39 47 41 48 43 42 32
3060 HETHET 23 22 20 17 15 23 13
3070 T BRERT 21 14 9 13 15 17 15
3080 sZ)==:) 5 9 9 7 7 4 4
3090 BT 10 6 12 7 9 5 11
3100 A o P ET 11 7 6 9 7 4 4
3110 EZl==Fld:)) 16 10 18 10 12 5 7
9999 I\ TFIBRXET 208 173 183 191 169 173 136
3510 ER_LH 2 8 3 3 7 5 6
3520 E R 10 12 12 1 7 8 11
3530 EETH 23 21 18 24 19 9 13
3540 =B AKHT 3 11 16 15 16 7 12
3550 AEFHT 15 22 20 15 22 14 24
3560 = T AT 2 8 7 13 10 8 4
3570 = T FaHlT 20 32 27 19 22 15 19
3580 SE L FrET 17 13 15 15 12 14 10
3590 JERT 0 0 0 2 0 0 0
9999 = ERRE 92 127 118 117 115 80 99
4010 )11 BT 18 10 4 14 15 7 7
4020 ESHT 1 4 5 6 5 5 2
4030 15T 3 7 6 9 5 4 4
4040 = HEAET 2 6 8 6 4 9 8
4050 K E/T 10 9 10 10 10 10 12
4060 ER 4 HHET 8 11 6 11 7 6 5
4070 Jt [ ET 3 4 2 4 4 3 2
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MH24 7T FREARBIREZD—HREIZKYNBEANZEDH-ADO - HEHEH
[(H27.2.28TR7E )ATERBT & (KF) BIEH A A OHERR (55T

TBET (KF)a—K TIEHET (KF) 4 70 71 72 713 14 75
4080 =T HAET 8 6 3 6 5 5
4090 FRUER BT 8 7 12 14 3 4
4100 A EFNET 2 2 2 1 1 4
4110 Jt FFOET 1 3 1 1 0 3
9999 R XE 64 69 59 82 59 60
4510 ERE—FHET 26 30 34 25 18 21
4520 B FKMET 4 4 6 4 5 1
4530 ARE=FEHT 1 5 2 5 0 4
4540 AR FHT 2 5 4 4 4 2
4550 AR A FMET 4 2 1 1 4 2
4560 BREE N TEHET 0 3 2 2 0 0
4570 ARECFHET 4 1 2 5 4 3
4580 AREE)\FEHT 0 0 0 2 1 0
4590 FRENEHET 1 4 0 3 4 3
4600 AL+ FHET 3 2 1 4 1 4
4610 ERE+ —FHET 0 2 3 6 2 6
4620 B+ — FKMET 6 3 5 4 10 1
9999 BERRXET 51 61 60 65 53 47
5010 RE#0 B HEHT 5 6 7 6 7 10
5020 RE FNBAEET 2 2 5 6 3 6
5030 REFORE{ZHT 2 3 7 3 1 10
9999 AR FNR X &Y 9 11 19 15 11 26
5510 o RET 4 6 5 10 12 10
5520 = Hh BT 16 22 17 20 12 16
5530 Gick=y) 17 14 10 12 13 13
5540 =y 8 10 8 12 13 11
5550 RHET 2 5 2 3 2 1
9999 =R XE 47 57 42 57 52 51
6010 i) BT /)N B 2 3 5 8 1 3
6020 fit] BT 0 2 1 2 7 6
6030 RE BT &)1 3 2 3 2 5 2
6040 = R [T 6 9 3 9 3 7
6050 JIIEHET R 2 4 11 3 6 4
6060 JIIEB BT 3 3 3 5 4 5
9999 BEEMRRXET 16 23 26 29 26 27
6510 HEA#EAHET 1 0 1 2 2 0
6520 HE A KIEHT 6 7 5 6 9 4
6530 BHEAFHHET 3 1 2 6 5 6
6540 HEAILTH 8 13 9 7 7 7
6550 HEAM 2 NET 3 2 1 5 5 2
6560 HEAEILHT 5 5 7 7 8 6
6570 HZE AR 4 10 11 9 7 9
6580 HZEAEHRT 4 3 4 5 1 1
6590 HEARHE 4 3 5 1 4 2
6600 HEAHHT 5 3 4 3 2 3
6610 HEA LTEHT 2 1 4 0 1 3
6620 HEAHFHHET 2 3 3 1 3 0
6630 HEA T 9 2 5 6 5 6
6640 HEARA EBHT 2 2 1 1 1 0
6650 HEAKHE 0 0 0 1 0 0
6660 HEAFRHT 2 1 0 1 3 4
9999 HEARRE 60 56 62 61 63 53
7010 ZRIMOHET 9 9 6 9 3 6
7020 ZRAKHET 4 13 6 4 6 5
7030 Z RIRHAHET 4 2 1 1 6 4
7040 ZRTXKEFHET 7 6 9 7 11 7
7050 Z REFHIGHET 5 2 3 6 1 2
9999 ZRERRXE 29 32 25 27 27 24
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MH24 7T FREARBIREZD—HREIZKYNBEANZEDH-ADO - HEHEH
[(H27.2.28TR7E )ATERBT & (KF) BIEH A A OHERR (55T

TEET (KF)a—F {TEET (KF) £ 70 7 72 73 74 75 16 71 718 719
8011 IRAETFEERLY 3 2 3 3 1 0 3 2 2 6
8012 IRABTFERA 8 4 3 5 6 6 4 8 3 6
8013 IRAETE R (& 4 2 1 2 2 3 1 4 3 5
8021 IR AHETIZRKLY 4 4 5 2 5 3 6 4 3 7
8022 IRAHETIRKA 0 1 0 0 0 1 0 1 0 1
8023 IR ARET K& 2 0 1 0 0 1 0 0 1 0
8031 IRAHET R ALY 9 3 7 7 10 10 9 6 6 4
8032 IRAET R AR A 0 0 1 0 0 0 0 0 0 1
8033 IRAET R A (& 1 0 0 1 0 1 0 0 0 1
8041 IR AHET ALY 4 1 3 2 2 5 5 1 5 7
8042 IRAET LIRS 3 0 2 3 2 3 1 5 1 0
8043 IR A HT B60% (X 0 0 3 0 1 1 0 0 3 1
8044 IR AHET 840F (1 3 0 0 2 2 0 2 3 0 1
8045 IR A HT 860% (F 1 1 2 4 2 3 0 3 2 5
8050 IRAET IR A 4 5 3 4 4 4 6 6 13 11
8060 R A ET R 2 5 5 4 8 4 1 7 6 4
8070 IRAETEAR 1 5 3 9 5 3 10 4 6 6
8080 IR A BT S %A 0 1 2 0 1 1 2 3 2 2
8090 IR A BT B 0 3 4 1 0 2 5 2 3 6
8100 IRAHET T /R 0 2 1 2 1 2 0 0 2 1
8110 IR A ET 1|55 1 2 3 1 3 1 4 4 10 1
8120 IR A BT EE 8 4 1 3 3 5 4 5 7 4
8130 IRAHBTHL 3 1 5 2 2 7 5 5 9 5
8140 IRAKETEEERT 9 5 8 5 5 5 5 3 13 7
8150 IRAETEEERL 1 2 8 1 2 6 0 3 3 3
9999 IRAR X ET 71 53 74 63 67 77 713 79 103 95
9010 FTHAREH 24 23 16 20 9 18 12 15 15 15
9020 FTHEHIEEAR 13 8 11 7 16 10 8 11 8 12
9030 FTH#HAEH 25 26 28 18 23 18 13 18 15 23
9040 FTHHEEE 45 35 38 37 32 33 32 34 36 36
9999 FTHREE 107 92 93 82 80 79 65 78 74 86
9110 EET T AL 20 24 15 9 12 20 13 19 11 15
9120 =T Ak 8 7 7 5 6 7 3 6 7 5
9130 FEHHRE 4 1 5 7 2 0 6 6 5 7
9140 SEET T AT 19 13 5 6 6 5 14 9 8 11
9150 SERT F8E 15 16 10 14 19 8 15 14 16 10
9160 SEET S AT 26 17 23 25 14 23 12 21 20 15
9170 $ERTN A 30 27 30 29 23 19 16 28 30 20
9180 SEET 85 15 24 17 18 28 15 21 16 19 20
9190 AT Z O 5 5 9 10 4 7 4 5 6 5
9200 SR HT B 7 2 9 8 6 4 11 9 6 11
9210 $ERT = H 12 12 8 18 10 13 5 7 16 7
9220 55 BT i 9 16 24 20 10 22 20 23 20 24
9230 S T B M 21 16 16 19 11 15 16 18 8 28
9240 SERTIE R 8 7 8 13 7 9 10 8 11 12
9250 SEATAL Frih 9 10 12 13 17 11 13 23 14 18
9999 FERXET 208 207 198 214 175 178 179 212 197 208
9310 R[ZHET AR 7 6 8 9 9 13 7 11 8 11
9320 R I5HETAL 6 8 3 10 12 10 7 6 8 12
9330 R ISET/INE 6 4 8 7 7 3 9 5 6 8
9340 RIGETR 11 6 14 20 19 21 14 17 10 9
9999 RGHRXET 30 24 33 46 47 47 37 39 32 40
9410 RETE 11 14 9 14 18 15 15 15 22 12
9420 RHETHHE 12 16 8 11 17 18 12 18 12 8
9430 RETEXR 9 9 9 10 12 7 12 12 9 7
9440 RETAEF 1 0 1 0 1 3 1 1 1 1
9450 RETHE[R 1 0 0 1 1 0 0 1 2 1
9460 RET{ZHE 1 1 1 1 2 1 1 3 2 1



MH24 7T FREARBIREZD—HREIZKYNBEANZEDH-ADO - HEHEH
[(H27.2.28TR7E )ATERBT & (KF) BIEH A A OHERR (55T

TERET (AF)a—F {TIET (K=F) & 70 71 72 73 74 75

9470 RETER 0 0 0 0 1 0
9480 RETHEAR 0 1 1 2 3 0
9999 REXET 35 41 29 39 55 44
99999 A&t 1675 1674 1709 1742 1593 1511
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77 78 79
0 0 0
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XH24 7 IF REARBIREZD—HHEICKYNEAZEDH-AO-HFEH

(H27.2.2838 7% )4 T BT & (KF) Bl S ln Al A O 2 (S5

TERET (AF)a—F {TIET (K=F) & 80 81 82 83 84
10 H ET 3 9 4 5 4
20 [ st BT 3 6 1 4 8
30 1B HET 2 4 5 6 9
40 LRHET 4 1 4 4 0
50 AET—TH 5 7 9 4 6
60 ABTZ_TH 1 1 2 1 2
70 ABT=TH 5 5 3 2 5
80 AT YR AT 1 0 3 1 1
90 PR T I AT 2 3 2 2 2
100 b FLET 2 3 1 4 1
110 ¥ASTHET 31 17 31 15 15
120 NN 5 8 6 1 6
130 FEFET 10 8 9 12 7
140 £ ] T 0 0 0 0 0
150 eSS 4 1 3 1 3
9999 KRB XET 78 73 83 62 69
510 ABRTUTH 8 12 10 15 5
520 heEE ET 5 0 3 2 3
530 J\IEHT 6 5 11 9 4
540 oy i) 7 6 5 8 3
550 it AT 6 7 2 2 4
560 = ZHET 4 2 2 3 3
570 EEmT 0 2 2 1 1
580 HrhAET 1 2 3 3 2
590 HriEET 1 3 3 1 4
600 ANET 16 8 7 6 3
610 FET 4 7 5 6 2
620 HAE—TH 0 0 0 0 0
9999 I\ XET 58 54 53 56 34
1010 EHHET 4 6 2 1 6
1020 L RET 4 8 6 1 4
1030 th BT 7 5 8 5 5
1040 Fichayliil] 11 10 16 9 9
1050 KR HEHET 15 9 11 9 13
1060 F _EHT 4 8 8 13 6
1070 rr IR ET 11 10 13 11 7
1080 E HHT 2 3 11 6 4
1090 HEHr 18 12 13 16 17
1100 L BEHR 18 10 19 7 14
1110 f21ERT 5 5 3 2 1
1120 f21E JTHT 4 4 2 2 1
1130 +&<HT 0 1 1 1 0
1140 Fh R BT 1 1 2 1 0
1150 FRET—TH 4 5 3 2 3
1160 FEET—TH 9 1 5 6 9
1170 SHIKHET 6 7 2 2 1
1180 EBEAHT 5 8 10 5 5
1190 ¥ F AHT 3 3 4 0 3
1200 KFE—TH 4 2 3 3 4
1210 RKFEHEIZTH 0 6 4 3 2
1220 HrHT 8 3 5 4 5
1230 FxHET 8 4 4 7 3
1240 HEHT 3 1 1 6 2
1250 TEEET 2 6 4 2 3
1260 NBrh @ 3 3 0 0 0
1270 HEHE 1 6 4 4 2
1280 PRAEHT 5 7 4 2 1
1290 SRET 5 2 9 6 3

(oc)

N
A2 SO =N WWONRAE LRI WO—-RWUIUIO =~ WRONWNROWNO—=LUIO=S=NJNWONNO—=-WOWUORA—=UTCINJG GO

ANN—=-—==DBDAANODCLOPAAII——O0O0O0OWPRO—-="DOOOITOWONITIWUIULIOOWO—-=-N—-P—-"-JNOON—-ON—W—ONI—~O0OWwWwo —=-—=0o

— —
WWWNO—-—OMNMLOOWWNODN A, OWOPMARIMOJYIOOI WO —LOOOPRMAN—WLWLCOW—LOOPPON—-W—LOON—ON—-II~J

ANO OO =N —=-NW—O—=DANNANOAWLWANRARAN - 1O WOWOOWWA—-IANIAMOIPLAA—=WNI—=01—=0 WOWOo

A= =2 2 OO0 T ON—_WWO - NOOOONDIEDRROOWOOGOGMNDNMNNO—LOI == =N=-=DNMNOOSOW—-0O0WNOOWOWNWUTIOO WN ©



MH24 7T FREARBIREZD—HREIZKYNBEANZEDH-ADO - HEHEH
[(H27.2.28TR7E )ATERBT & (KF) BIEH A A OHERR (55T

TIERET (K a—K {THET (KF) 4

1300
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9999
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2010
2020
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2100
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9999
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9999
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